
KEY FEATURES
•  Compact Design

•  Integral 12 VDC Electric/Hydraulic  
Mechanically Shifted

•  High Output Rating

•  Output Options Include SAE-B, SAE-C,  
or 1410 Companion Flange, 1-¼" Keyed (GB only)

•  Face Clutch Shift

•  Output Speed 128% of Engine

•  Crankshaft Rotation, GB Output Opposite Rotation

•  Wet Spline Pump Output Connection

RM1 SERIES
R E A R  M O U N T  M E C H A N I C A L 
S H I F T  P O W E R  T A K E - O F F

Rear mount PTO with special design for the Allison 

TC-10 TS transmission with high torque capabilities in 

a small package. Designed for end dump trailers, live 

floors, compressors, conveyors, bulk transport dry or 

liquid, and other blower applications.

DESIGNED FOR THE ALLISON TC-10 
TRACTOR SERIES TRANSMISSION

PTO TORQUE & HORSEPOWER RATINGS

ENG %
SPEED
RATIO

INTERMITTENT TORQUE 
LB.FT.(NM)

 CONTINUOUS TORQUE 
LB.FT. (NM)

 INTERMITTENT POWER
HP (KW)

ROTATION

128 10 675 [915] 675 [915] 128 [95] CRNK

64 GB Output 200 [271] 200 [271] 38 [51] OPPOSITE

MODEL NUMBER CONSTRUCTION

Features
PX — Pressure Lube

RM1-UC1  10-HX 1  X4  PX

Mount
Universal SAE-C — UC1		        

Series
Rear Mechanical — RM1

Ratio	
1:1 = 10	

	

Output Types
X4 — 1410 Companion Flange
BB — SAE-B Shaft - SAE-B Flange
CC — SAE-C Shaft - SAE-C Flange
GB — Reduction Gearbox Included- 1-¼" Rd.

Assembly
1 — Arrangement

Shift Option
HX — 12v Elec/Hyd



   

DIMENSIONS
  RM1 SERIES

5.750 146.1

3.536 89.8

1/2-13 UNC-2B
4 PLCS

1/2-13 UNC-2B
2 PLCS 3.536 89.8

3.150 80.0

3.150 80.0

M12 x 1.75
4 PLCS

3.536 89.8

0.32 8.1
ON 3.31 [84] DIA B.C.

60° 

7.125 181.0

1/2-13 UNC-2B
4 PLCS

2 PLCS

4.508 114.5

4.508 114.5

3.536 89.8

1/2-13 UNC-2B

3.4 86

0.08 1.9

2.24 57.0

2.7 69

1.25 31.69

5/16" KEYWAY 

"B" OUTPUT - 1.25" RD SHAFT W/ 5/16" KEY

0.6 16

4.0 101

1.4 37

SAE "B" 7/8-13T
SPLINED SHAFT

5.0 127

0.9 22

1.7 43

SAE "C" 1 1/4"-14T
SPLINED SHAFT

3.15 80.1

2.1 53

0.4 10

DIN 5462 36MM 8SPL
SPLINED SHAFT

1.4 37

"D" OUTPUT - SAE "B" 2/4 BOLT

"E" OUTPUT - SAE "C" 2/4 BOLT "I" OUTPUT - DIN 5462

0.32 8.1
ON 3.31 [84] DIA B.C.

60° 

0.46 11.7
ON 3.75 [95.3] DIA B.C.

80° 

5.750 146.1

3.536 89.8

3.536 89.8

1/2-13 UNC-2B
4 PLCS

1/2-13 UNC-2B
2 PLCS

3.4 86

0.08 1.9

2.24 57.0

2.7 69

"B" OUTPUT 

0.08 2.1

3.4 86

2.75 69.9

0.9

1.7 43

0.4 10

4.0 101

0.6 16

1.4 37

SAE "B" 7/8-13T
SPLINED SHAFT

"2" OUTPUT - DIN120 COMP FLANGE

"C" OUTPUT - 1410 COMP FLANGE

5.750 146.1

3.536 89.8

1/2-13 UNC-2B
4 PLCS

1/2-13 UNC-2B
2 PLCS 3.536 89.8

3.536 89.8
1/2-13 UNC-2B

2 8.1
4] DIA B.C.

46 11.7
5.3] DIA B.C.

13 UNC-2B
4 PLCS

08 114.5

/2-13 UNC-2B

2.7 69

1.25 31.69

5/16" KEYWAY 

0.6 16

4.0 101

1.4 37

SAE "B" 7/8-13T
SPLINED SHAFT

"D" OUTPUT - SAE "B" 2/4 BOLT

5.750 146.1

3.536 89.8

1/2-13 UNC-2B
4 PLCS

1/2-13 UNC-2B
2 PLCS 3.536 89.8

3.150 80.0

3.150 80.0

M12 x 1.75
4 PLCS

0.32 8.1
ON 3.31 [84] DIA B.C.

60° 

0.46 11.7
ON 3.75 [95.3] DIA B.C.

80° 

7.125 181.0

1/2-13 UNC-2B
4 PLCS

2 PLCS

4.508 114.5

4.508 114.5

5.750 146.1

3.536 89.8

3.536 89.8

1/2-13 UNC-2B
4 PLCS

1/2-13 UNC-2B
2 PLCS

3.4 86

0.08 1.9

2.24 57.0

2.7 69

1.25 31.69

5/16" KEYWAY 

"B" OUTPUT - 1.25" RD SHAFT W/ 5/16" KEY

0.08 2.1

3.4 86

2.75 69.9

0.6 16

4.0 101

1.4 37

SAE "B" 7/8-13T
SPLINED SHAFT

SAE "C" 1 1/4"-14T
SPLINED SHAFT

3.15 80.1

2.1 53

0.4 10

DIN 5462 36MM 8SPL
SPLINED SHAFT

4.0 101

0.6 16

1.4 37

SAE "B" 7/8-13T
SPLINED SHAFT

"2" OUTPUT - DIN120 COMP FLANGE

"C" OUTPUT - 1410 COMP FLANGE "D" OUTPUT - SAE "B" 2/4 BOLT

"E" OUTPUT - SAE "C" 2/4 BOLT "I" OUTPUT - DIN 5462

Specifications are subject to change without notice. All rights reserved.
Please check www.munciepower.com for warranties and current versions of literature.

MP15-XX

Muncie Power Products, Inc., Member of Interpump Group
201 East Jackson Street, Muncie, Indiana, USA 47305
1-800-367-7867

2.75 [70]

TRANSMISSION
MOUNT SIDE VIEW

PUMP OUTPUT
VIEW

SAE-C

SAE-B
1410 COMP FLG.

80

9.8 [249.63]

1.9 [48.08]

0.44 [11.15]

3.7 [95.23]

.4 [161.93]

4.0 [101.60]

5.8 [146.05]

5.0 [127.02]

6.5 [164.82]

5.0 [126.76]

0.5 [13.49]

5.7 [145.72]

5.0 [127.05]

7.1 [180.98]

6.4 [161.93]

6.7 [171.26]

5.0 [127.00]

8.0 [203.49]

5.5 [139.83]

7.9 [201.55]

SIDE VIEW
DRIVELINE

MODEL CONFIGURATION

RM1 -  UC1  10 - HX  1  X4  PX

SERIES
RM1

Mount
UC1

Ratio
1:1 = 10

Features
XX - No options
PX - Pressure Lube

Output Type
X4 - 1410 Companion Flange
BB - SAE-B Shaft - SAE-B Flange
CC - SAE-C Shaft - SAE-C Flange

Assembly
1 - Arrangement

Shift Option
HX - 12v Elec/Hyd

6
1-¼"-14T

⅞"-13T

PILOT

(USE WITH GB1B)

PILOT

1-¼” -14T1-¼” -14T

01T42886-01

M
U

N
C

IE

2.62 66.5

3.43 87.1

5.50 139.7

1.92 48.8

⅞"-13T (SAE-B)

1-¼" Rd
w/5 ⁄16" KW

.125 -28 NPT

15°

9.26 235.3

6.73 171.1

Ø 4.00

5.75 146.1

Ø 0.56 14.3

3.50 89

PILOT

OPTIONAL OUTPUT SPEED REDUCTION GEARBOX GB1B-205-125A - OUTPUT SPEED 
RATIO 50% OF INPUT - OUTPUT TORQUE RATING 200 LB.FT. [271 NM]

01T42886-01

M
U

N
C

IE

2.62 66.5

3.43 87.1

5.50 139.7

1.92 48.8

⅞"-13T (SAE-B)

1-¼" Rd
w/5 ⁄16" KW

.125 -28 NPT

15°

9.26 235.3

6.73 171.1

Ø 4.00

5.75 146.1

Ø 0.56 14.3

3.50 89

PILOT

  GB1B-205-125A

201 East Jackson Street • Muncie, Indiana 47305
800-367-7867 • Fax 765-284-6991 • info@munciepower.com • www.munciepower.com
                    Specifications are subject to change without notice.  Visit www.munciepower.com 

for warranties and literature. All rights reserved. © Muncie Power Products, Inc. (2001)Member of the Interpump Group
MP15-43 (Rev. 07-16)


